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rem : " ”"

rem: " AGEMDA et PLANMING HEEDOMADARIRE "

rem: IR o LT '

rem: " - par P.BEMEZET "

et " 1"
18 :CleaP:ECPEEHEJS:DPEHISJSJIS:PDkE?QSJIQG:

28 out"DATE:-". 4.5
20 deczl.4,11.15
48 reqzl
45 cnt"PLAHHING 2", 6.5 decz2 . 6. 16,2 redz2:inz2, 2% ifs$=" "then 50
7 ifsf="o "“then s1=1:g9oto 80 elze sloadd.s¥ =1=0
o8 inzl,d¥ '
&3 1fdE=" "thensloads, "agenda” n=2"2c0tol 1R
A ilaadS,di
28 n=3
98 caraet"jsmfilfacasp", 2.2
188 oncokactol 1B, 2370, 1549, 41E 13@, 158, 320, 340,558, 294, 200
118 reqzlinzl.df revzl :
120 redz2 revzz goto?@
130 n=n+1: 1fnx;4thﬁﬂdﬁ
148 90tol55 :
158 vn=n—1:ifn<dthenSo
155 redzn:inzn. mE
168 ifmF>Y "fhnnanth,ms renIn gut el
165 hunt " ".strFin 22, 1 -
178 clearn, 5. 1. 1 1F:o=@thenrewn1431,1;14
175 2oto2a C :
180 reve, 28,58, 12.” f2=0
198 caraet "12349",4.23:1fF ok=5 then *wdb,aa 2.12 088
280 n=ok+24:inzn.m¥ : :
2192 if mi(""' " othen ssaved. "dour”.ltodlisloads.mE: g=1g}
220 redznirevZ¥in-222,38,1.8.7 inzn.m¥: 1F E=" " fhhnlqﬁ
225 ssay 98 "laur“;ltu41 s1oad8, "mema" :
238 outzl,mE:i=1 :
248 carget "iHRse".2,2
2580 on ok QotQEEB,h- .IB.TGHJJ9G
260 i=i+lif 122 th¢n¢ﬂ9
278 redzi irewit+Z, 2, 1,5 38,7 aotodn
288 i=i-1:if i1<4 thenzZ@: elze270
290 clearzl to 2& mE="sA "+mE Print#l1S.m3
295 mE=" "iaoto3lQ C
200 if s=1 then nE="=z9: "+M$:PPiﬂt#1u9ﬂ$
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zsavel. m¥E, 1to2l ==1
zloads, "iour" irewt,28.8,12 -1F =
outzr,m$ Print#l135, "z8: Jour" t9o0tol0

o et 1L

if n=3 then98

bt ", ", strEin/20 .1 it zo= kaeni=14:eliei=5
clearn, 5, 1,22 revin, D, 1,221 ¢ r—ligatOSB
ifn=2then9d ,

revw 7,253,194, cioc=c+l tife1Sthenc=0

anto9g ' ‘

ifdg=" "thenaw

if left$(ds, 20 "1u" then =@

if leftFids, 2> "ma" then .i=1

if lﬁffffdi-_,
if leftsids, 2D

waoun

"me" then =2
"ie" then
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